Péag 100

4a) 5(x-1)-6x+2=3(1-x)-(1-3x)
5x-5-6x+2=3-3x-1+3x
-Xx-3=2
—-x=2+3; —-x=5;, x=-5

5a)
1—-2x _x+4

9 6
min.cm{9,6}=18
2(1-2x) 18-1-3(x+4)
8 18
2—4x=18-3x—-12; 2—-4x=6-3x; —4x+3x=6-2; —x=4; x=—4

5b)

3x+2_4x—1+5x—2_x+1

5 10 s 4
min.c.m{5,10,8,4} =40

8(3x+2)—4(dx—1)+5(5x—2) _10(x+1)

40 40
24x+16—16x+4+25x—10=10x+10; 33x+10=10x+10; 33x—10x=10-10;
23x =0, x:£l=0 Solucion: x=0
23
6a)
3—x_2u;2)_4_7Qx—D
2 3 9

min.c.mf2,3,9}=18
93-x)—6-2(x—2) 18-4-2-72x~-1)
18 - 18
27-9x—12x+24=72-28x+28;, 51-2Ix=100—28x; —2Ix+28x=100-51

7x =49, x=%§=7 Solucion: x=7




6¢c)
3x—2 4x+1_-2 2(x-3)

6 10 15 4
min.c.mi6,10,154}= 60
103x—2)—6(4x+1) _4-(=2)—15-2(x—3)

60 60
30x—20—-24x—6 =—-8—-30x+90; 6x—26 =-30x+82; 6x+30x=82+26
36x =108, x:%:.? Solucion: x=3

Ecuaciones particulares.
3x=3x+95;, 3x-3x=95; 0=5 Falso, la ecuacion no tiene soluciones.

2x+7=2x+7, 2x-2x=7-7; 0=0 Verdadero, la ecuacion tiene infinitas soluciones.
2x+4=x +7; 2x-x=7-4; x=3

ECUACIONES DE 2° GRADO.
ax’+bx+c=0

:—bi\/b2—4-a-c

X
2-a
a=1
x°=3x+2=0 {b=-3
c=2
x_3+]_2
x_—bi«/b2—4-a-c_—(—3)J_r\/(—3)2—4-]-2_3i]_ Ty
2-a 2.1 2 3-1
XZZTZI

Soluciones: x;=1y x,=2



